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Chapter 09 G5 &

{Section 9.1)

1. @ 1+4+81= /86
®) VA+9+49= 62
© 7
@ 2
() Va+9= 413
(f) Va+49= 53

® Vi +a®
® Vi +a®
2. AF = (—4,0,3), HB = (4,5.0), HE = (4,5.3)
3. (0,2)
4. (—3,2), (3,—2), (6, —4), (—6,4)
5. B—A=(-3,-3)
6. (3,1,6)+(1,0,4) = (4,1,10)
7. (3c0s120°,3sin120° ) = (— %% V3)



{Section 9.2)

10.

11.

12.

@) DB
) DB
(©) AB+ CB= AB+ DA= DB

_— — — — @ —

(d AB— CB= AB+ BC= AC

© 0
(6,7,8)
ZB:: (174ai)7 Ej = (_ 2, -8, 8)

CD = —2ABo| 2233

AB= (3,6, —4), QP=(10,y, 2—2).
10/3=y/6,y =20
10/3=(2—2)/(—4),2=—134/3

oy &

L 2Q+8P),C= i(3Q+ 7P)

1
A= 95 QFPLB= 55 ST

a= —1,b=2

AL+ BFY CD=FE— A+ F—B+D—C
=%(B+ C)—A+%(A+ C)—B+%(A+B)—C=6

@ 9+1+25=+/35

(b) \/7r2+7r2+7rz+7r2+7r2=7r\/g

(2/ /104, —6/+/104,8/ v/104)
—5u//lul

B—C:: 12anormalized = 12(0’ - 1/ v 17’ - 4/ 14 17)

—12 —48 12 48
C-B=0,—=,—=),C=(1,2— ,6—
( V17 \/17) ( V17 V17

)
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13.

14.

15.

16.

17.

18.

19.

Hz By

— Ze

lul = /38, 12174l = 217 /38

(cosb, sinf)

— _—
u= SAB,,I(,”,,,,LMZCJ = 3(* 4,0, — 6)nm-malized

=3(—=4/52,0, —6//52) = (—12//52,0,— 18/ /52)

AB=(—5,—6, —7), llull = 1/(25+36+49) = 1/110,

— 1 _— — - —

110 © T normalized _(110\/110 "1104/110 " 1104/110 )

u—2v="5;— 3k
llull = V4+9+1= 14

El

(ZrGial

Hanbit Academy, Inc.



H2 Sreiorzroial

b= FA  Hanbit Academy,Inc.

{Section 9.3)

1. wev=5+12-15=2
u o vO]EE o7}
2 u + v =llulllollcos180 = 30(— 1) =— 30
3- COSA - M7—3>: (17 7379)7
lABlllAC
AC= (3, —1,5),
cosAd = LZO 904
NCTRVEAT
cos 10.904=125"°
Uy Ug Us
4, (@ cosf; = —,cosb, = —,cosl; = —
[l [l ]
u u u >
®) (coshy,coshy,cosh;) = (=) =, =) ==
lul * lul lul |l
[e] 5 o 3
5. (@) AB9 7]1&7] = 3 cDe 71&7] = -
M) AB+ CD =0
6. AB=(6,5), u=(=5,6), BC=7u/llull,
35 42
C— B=(—35/61,42/61), C= (8 — L9+
(—35/ / ) ( NG WST)
26
7 0 =
ST Jrs V1T
8 uelav—bw)=alu » V)-b « =@ » ) » V=@ + Wu + w)=0
u 1l au—bv
9. Il-6ull=6lull =18,
u e 3u=3(u « u)=3llull>=27
lu—oll= Vw—1v) « (u—v)=VIulP—2u « v+lolP=V9—10+4= V3
10. (@) 33
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12.

13.

14.

15.

16.

17.

18.

19.

20.

() o7 gl

(©) (51/42,2+/42,3/42—4/42)
@ o7 gl

(e) 2/+/54

(f) (132,—99,33,—132)

(8 om gl

(@)

(b) «

<}

@@ —7//11
®) —7//29

96/ /153

(@) 6
(b) —6
() 24
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{Section 9.4)

10.

11.

=)

- —

Zx;_; EO]U&,ELEO];beO]q.
ol a« b= 00 a} b= A A 5= ]l
uhERA o] & WFe = o= §lv

(@) U4 e 7 o] Aabo] me,
®) 0
© 0

=3

=N

15(ux v)

@) (—11,—12,27)
®) —17i+13j+ k
(¢) (0,0,21)
@ (4,2,11)

(13,—11,3)



12.

13.

14.

@ i+27,6i+3;j— 3k
M) (—3,27,11)

%\/(24)%(3,1)%(30)2
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{Section 9.5)

1. (1,2,3) « (1,4, —3)=0
2. 16
3. AB+ ACXAD =12 =0 (S @A o] 91 %] &
4 =T
5. 0
6. (@ —5

® 5

(© 5

@ —300

(&0

) 0



{Section 9.6)

1.

o

@ z=y"+5

MoTioN 15
BoTroM
TO TOP

(©

(@ y = —3sint
() y = 7+ 3sint
(¢) y = 3sin2nt

@ A =

®) t=—1

r o) AH 5% Foll r,7h w3t

b) z=1y"+5

SAME PATH j&
As r(a}

Y .
Serosie 70 )
DIRECTION 5

@ z=y"+5

(b)
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10.

11.

12,

13.

14.

15.

3t%i+2j— sintk

=
v= —i—Tj

(@ 6

® v=—6i

vl = 1+ 42

1t = V4t (sint®]> + cost’]> = 2lt

® [0l = V29
— 14+ ——t)i+(1— t)j+ th
@ 55 it - it

@ AN A oA B+

4
®) &4 014 22

@ (t2—8)i+ (%ﬁ —41)j+ (6t—12)k

() (4/ /452 )i+ (20/ /252 )}+ (6/ /452 )k

(@) z?/9+y*/4 =1
() %2 = /5sin’t+4, AN EH =3
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{Section 9.7)

v =a=f/m
FX T =T (ffm) = (C)0 < )
FIr

—

- 1 —
r= (4t+1)i + (— Egt2+2t+2)j

@ 2 = Az gus (%) = [y

. dr _ drfdt _ v

@ 5
(b) a = (—5cost, —Bsint), a,, =0

(C) Qprad = 5

@ a//v

®) alwv
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4)

—3i+27, lvl = V13
= —6i+3j

= m+y 45

_18_
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(FS2HD

®

@ 5

) 14

(©) (—=11,0,22)

@ ﬁ

€ 5/+/45

(f) (—4/9,5/9, —2/9)

© (—4/v/35)i + (5/V45)j — (2/ V45)k
® (12/v/14)i + (18//14)] — (6//14)k

ol &
@ j— 5k ®) 6
(@ (b) AA
-2

® (u+0)+ (u+v)=lul?+ 0P

- - — —
lux vl = lul < [v]

_14_



10.

11.

12.

13.

14.

@ lutol?+lu—v?=2ue utvev=2ul+20v?

(b)

%8/ V42 mph TFAa

- =

ulwv

jS&S

y = (—tsint + cost) i + costj,
a = (—tcost—2sint)i — sintj
(t=m)r=—mi,v=—i—j,a=mi

7/ V2 m/s| 2
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